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Diagram A and diagram B below represent the same part of the

same human eye under different conditions.

Diagram A Diagram B

Which diagram, with a corresponding reason, represents
looking at an object 10 metres away?

A Diagram A because the suspensory ligaments are
and the lens is less convex

B Diagram A because the lens is more convex
suspensory ligaments are slack

C Diagram B because the lens is more convex
suspensory ligaments are slack

D Diagram B because the suspensory ligaments are
and the lens is less convex

a person
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The diagram below illustrates how light refracted in the human eye leads to a
visual defect.
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Identify part
(@ B
) ¢C
Name the visual defect that is illustrated in the diagram.

Describe the consequences of the visual defect in your answer to
QUESTION3.2.2

Explain the consequences if the light rays were to fall on part A.

Explain TWO ways in which the lens is structurally suited to
perform its function.

@)
(12)




image9.png
321

322

323

324

325

(a) Lensv
(b) Choroidv’

Long-sightedness+ /hyperopia/hypermetropia

- Cannot see nearby objects clearlyv’
- causing the image to be blurredv”

- No image will be formeds /cannot see the object
- No receptors’ present
- Light will not be converted into an impulsev’

- Lensis elasticv’
therefore can change shape- /convexity/allow for
accommodation
- Lens s transparent
to allow light rays to pass through
- Lens is biconvex+’
to refract light rays+
(Mark first TWO only) (Any2x2)
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114 Which ONE of the following maintains the shape of the eyeball?
A Comea

B Lens

C  Vitreous humour

D Retina

1.1.2 The choroid ...

A s richly supplied with blood vessels.
B contains photoreceptors.

C refracts the light rays.

D sends impulses to the brain.
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1.1.6 Which ONE of the following best describes the events of
accommodation when a person is viewing an object that is less
than 6 m away?

Ciliary muscle Suspensory Tension on
ligaments the lens
A Relaxes Tighten Increases
B Contracts Slacken Decreases
C Relaxes Slacken Decreases
D Contracts Tighten Increases
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14 The diagrams below show the condition of the eyes for different light
intensities when viewing the same object.

Diagram 1 Diagram 2 Diagram 3

144 Give the LETTER and NAME of the part that
(a) Contains muscles @
(b) Is made up of tough white fibrous tissue @

142 Which diagram (1, 2 or 3) represents the eye of a person:

(a) Inavery bright area (U]

(b) Where the rods are stimulated the most )
143 Which muscles are:

(a) Contracted in diagram 2 m

(b) Relaxed in diagram 3 1)

(8)
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1.12 A function of the iris of the eye is to ...

refract light to form a clear image
control the amount of light that enters the eye.
convert the light stimuli into impulses.
prevent reflection of light within the eye.
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